ONLY QUESTIONS
	A train speeds past a pole in 15 seconds and a platform 100 m long in 25 seconds. Its length is:
	Aptitude Test
	Aptitude Test

	A 300 metre long train crosses a platform in 39 seconds while it crosses a signal pole in 18 seconds. What is the length of the platform?
	Aptitude Test
	Aptitude Test



	
A train 800 metres long is running at a speed of 78 km/hr. If it crosses a tunnel in 1 minute, then the length of the tunnel (in meters) is:" 
A train 800 metres long is running at a speed of 78 km/hr. If it crosses a tunnel in 1 minute, then the length of the tunnel (in meters) is:

	Aptitude Test
	Aptitude Test

	A train travelling at a speed of 75 mph enters a tunnel 3 miles long. The train is mile long. How long does it take for the train to pass through the tunnel from the moment the front enters to the moment the rear emerges?
	Aptitude Test
	Aptitude Test



	
A train 110 metres long is running with a speed of 60 kmph. In what time will it pass a man who is running at 6 kmph in the direction opposite to that in which the train is going?" 
A train 110 metres long is running with a speed of 60 kmph. In what time will it pass a man who is running at 6 kmph in the direction opposite to that in which the train is going?

	Aptitude Test
	Aptitude Test

	Two trains 140 m and 160 m long run at the speed of 60 km/hr and 40 km/hr respectively in opposite directions on parallel tracks. The time (in seconds) which they take to cross each other, is:
	Aptitude Test
	Aptitude Test

	Two trains, each 100 m long, moving in opposite directions, cross each other in 8 seconds. If one is moving twice as fast the other, then the speed of the faster train is:
	Aptitude Test
	Aptitude Test

	A goods train runs at the speed of 72 kmph and crosses a 250 m long platform in 26 seconds. What is the length of the goods train?
	Aptitude Test
	Aptitude Test

	A 270 metres long train running at the speed of 120 kmph crosses another train running in opposite direction at the speed of 80 kmph in 9 seconds. What is the length of the other train?
	Aptitude Test
	Aptitude Test



	
A jogger running at 9 kmph alongside a railway track in 240 metres ahead of the engine of a 120 metres long train running at 45 kmph in the same direction. In how much time will the train pass the jogger?" 
A jogger running at 9 kmph alongside a railway track in 240 metres ahead of the engine of a 120 metres long train running at 45 kmph in the same direction. In how much time will the train pass the jogger?

	Aptitude Test
	Aptitude Test

	Two trains are moving in opposite directions @ 60 km/hr and 90 km/hr. Their lengths are 1.10 km and 0.9 km respectively. The time taken by the slower train to cross the faster train in seconds is:
	Aptitude Test
	Aptitude Test

	A train 360 m long is running at a speed of 45 km/hr. In what time will it pass a bridge 140 m long?
	Aptitude Test
	Aptitude Test

	Two trains of equal length are running on parallel lines in the same direction at 46 km/hr and 36 km/hr. The faster train passes the slower train in 36 seconds. The length of each train is:
	Aptitude Test
	Aptitude Test

	A train 240 m long passes a pole in 24 seconds. How long will it take to pass a platform 650 m long?
	Aptitude Test
	Aptitude Test

	A train passes a station platform in 36 seconds and a man standing on the platform in 20 seconds. If the speed of the train is 54 km/hr, what is the length of the platform?
	Aptitude Test
	Aptitude Test

	Two trains running in opposite directions cross a man standing on the platform in 27 seconds and 17 seconds respectively and they cross each other in 23 seconds. The ratio of their speeds is:
	Aptitude Test
	Aptitude Test

	The length of the bridge, which a train 130 metres long and travelling at 45 km/hr can cross in 30 seconds, is:
	Aptitude Test
	Aptitude Test

	A train 125 m long passes a man, running at 5 km/hr in the same direction in which the train is going, in 10 seconds. The speed of the train is:
	Aptitude Test
	Aptitude Test

	A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is the length of the train?
	Aptitude Test
	Aptitude Test



	
to different persons. In how many ways can wrong choices be made?" 
There are four letters and four envelops addressed to different persons. In how many ways can wrong choices be made?

	Aptitude Test
	Aptitude Test



	
formed with digits 1, 2, 3, 4, 5, 6 (repetition of the digit is allowed)?" 
How many even numbers of four-digits can be formed with digits 1, 2, 3, 4, 5, 6 (repetition of the digit is allowed)?

	Aptitude Test
	Aptitude Test



	
formed with digits 1, 2, 3, 4, 5, 6 (repetition of the digit is allowed)?" 
How many even numbers of four-digits can be formed with digits 1, 2, 3, 4, 5, 6 (repetition of the digit is allowed)?

	Aptitude Test
	Aptitude Test



	
of P is 2/5 of the combined share of Q and R. P gets:" 
Rs 1,050 are divided among P, Q and R. The share of P is 2/5 of the combined share of Q and R. P gets:

	Aptitude Test
	Aptitude Test

	5 mangoes and 4 oranges cost as much as 3 mangoes and 7 oranges. What is the ratio of cost of one mango to the cost of one orange?
	Aptitude Test
	Aptitude Test



	
30 and mean proportional of 9 and 25 is:" 
The ratio between the third proportional of 12 and 30 and mean proportional of 9 and 25 is:

	Aptitude Test
	Aptitude Test



	
1450 kms between two cities Delhi and Kolkata is shown as 5 cms. What scale is used to draw the map?" 
On a certain map of India the actual distance of 1450 kms between two cities Delhi and Kolkata is shown as 5 cms. What scale is used to draw the map?

	Aptitude Test
	Aptitude Test




per annum compound interest semi-annually become

	
Rs 926.10?" 
In how many years, will a sum of Rs 800 at 10% per annum compound interest semi-annually become Rs 926.10?

	Aptitude Test
	Aptitude Test




Rs 4,025 in 3 years and to Rs 4,550 in 6 years at the same

	
rate of interest. Find the sum and the rate of interest per annum." 
A sum of money at simple interest rate amounts to Rs 4,025 in 3 years and to Rs 4,550 in 6 years at the same rate of interest. Find the sum and the rate of interest per annum.

	Aptitude Test
	Aptitude Test




interest and Rs 4,000 at 1% higher rate of interest. If the

	
interest in both the cases after 4 years is same the rate of interest in the former case is:" 
A man invested Rs 5,000 at some rate of simple interest and Rs 4,000 at 1% higher rate of interest. If the interest in both the cases after 4 years is same the rate of interest in the former case is:

	Aptitude Test
	Aptitude Test




1/9 th of the sum and the number of years and the rate per


cent per annum are equal. The rate per cent per annum

	
is:" 
The simple interest on a sum of money is 1/9 th of the sum and the number of years and the rate per cent per annum are equal. The rate per cent per annum is:

	Aptitude Test
	Aptitude Test



	
simple interest for 3 years at 5% per annum can be found out by multiplying the principal by:" 
The difference between compound interest and simple interest for 3 years at 5% per annum can be found out by multiplying the principal by:

	Aptitude Test
	Aptitude Test

	If x + y + z = 0, then x2/yz+y2/xz+z2/xyis equal to:
	Aptitude Test
	Aptitude Test

	If a + b + c = 0, then (a3 + b3 + c3) ÷ abc is equal to
	Aptitude Test
	Aptitude Test

	(1/10)18 - (1/10)20 = ?
	Aptitude Test
	Aptitude Test

	If x=y=2z and xyz=256 then what is the value of x?
	Aptitude Test
	Aptitude Test

	If 2x-y=4 then 6x-3y=?
	Aptitude Test
	Aptitude Test

	The product of two successive number is 9506.Which is the smaller of two numbers?
	Aptitude Test
	Aptitude Test

	1/3 of a number is 3 times more than 1/6 of that number. find the number?
	Aptitude Test
	Aptitude Test

	3,15,x,51,53,159,161. Find x
	Aptitude Test
	Aptitude Test

	1-way set associative memory is called-----
	Aptitude Test
	Aptitude Test



	
65536, 256, 16, 4, _______" 
Choose the missing number from the given alternatives to complete the series. 65536, 256, 16, 4, _______

	Aptitude Test
	Aptitude Test



	
125, 80, 45, 20, ________" 
Choose the missing number from the given alternatives to complete the series. 125, 80, 45, 20, ________

	Aptitude Test
	Aptitude Test



	
31, 40, 48, _____ 61" 
Choose the missing number from the given alternatives to complete the series. 31, 40, 48, _____ 61

	Aptitude Test
	Aptitude Test



	
1, 1, 4, 8, 9, 27, 16, ______" 
Choose the missing number from the given alternatives to complete the series. 1, 1, 4, 8, 9, 27, 16, ______

	Aptitude Test
	Aptitude Test



	
39, 33, 26, 18, ________" 
Choose the missing number from the given alternatives to complete the series. 39, 33, 26, 18, ________

	Aptitude Test
	Aptitude Test



	
26, 2, 13, 36, 3, 12, 44, 4, 11, _______5, 10" 
Choose the missing number from the given alternatives to complete the series. 26, 2, 13, 36, 3, 12, 44, 4, 11, _______5, 10

	Aptitude Test
	Aptitude Test



	
126, 142, 154, 162, _______" 
Choose the missing number from the given alternatives to complete the series. 126, 142, 154, 162, _______

	Aptitude Test
	Aptitude Test



	
7, 8, 10, 11, 13, ______" 
Choose the missing number from the given alternatives to complete the series. 7, 8, 10, 11, 13, ______

	Aptitude Test
	Aptitude Test



	
194, 202, 211, 221, ______" 
Choose the missing number from the given alternatives to complete the series. 194, 202, 211, 221, ______

	Aptitude Test
	Aptitude Test



	
8, 27, 64, 125, _______" 
Choose the missing number from the given alternatives to complete the series. 8, 27, 64, 125, _______

	Aptitude Test
	Aptitude Test
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Infosys questions

1.One man ordering pizza,there r 5 different varieties in the shop,namely a,b,c,d,e. you can also order your own 5 varieties other then a,b,c,d,e.The ordered one should be in a combination of 3 varieties of shop and 2 varieties of your own taste.find how much different varieties he can order?(plz provide the answer with solution)

2. Thirty men take 20 days to complete a job working 9 hours a 

day.How many hour a day should 40 men work to complete the 

job?  (a) 8 hrs  (b) 7 1/2 hrs (c) 7 hrs (d) 9 hrs
ans:D
for 30 men d no of workin days=20

for 40 men d no of workin days=15

men           : 30    40

days          : 20    15

hrs per day   :  9     x 

30*20*9=40*15*x

so x=9hrs

